

Write your name below. This exam is worth 100 points. On each problem, you must show all your

- (c) What is the rank of the coefficient matrix?
- (d) How many solutions are there? If there is a solution, give the solution. If the solution is not unique, give the general solution.

Solution:

- (a) We first obtain a row echelon form for the system. (Note that row echelon form is not unique so others are possible.)

3. (20 points) Let x be a column vector of length m and y be a column vector of length n . You may assume that the first element of each vector is nonzero; all other elements might be zero or nonzero. Prove that the rank of the matrix xy^T is one. (Hint: Try to row reduce the matrix.)

Solution:

$$xy^T = \begin{matrix} & \begin{matrix} 1 & 2 & \dots & n \end{matrix} \\ \begin{matrix} 1 \\ 2 \\ \vdots \\ m \end{matrix} & \begin{matrix} x_1y_1 & x_1y_2 & \dots & x_1y_n \\ x_2y_1 & x_2y_2 & \dots & x_2y_n \\ \vdots & \vdots & & \vdots \\ x_my_1 & x_my_2 & \dots & x_my_n \end{matrix} \end{matrix}$$

The first diagonal element is nonzero by assumption (stated in the problem), so we can use it to eliminate all entries in the first column below the first diagonal. Eliminate the second entry in the first column by subtracting x_2/x_1 times the first row from the second row, which yields

$$xy^T = \begin{matrix} & \begin{matrix} 1 & 2 & \dots & n \end{matrix} \\ \begin{matrix} 1 \\ 2 \\ \vdots \\ m \end{matrix} & \begin{matrix} x_1y_1 & x_1y_2 & \dots & x_1y_n \\ 0 & 0 & \dots & 0 \\ \vdots & \vdots & & \vdots \\ x_my_1 & x_my_2 & \dots & x_my_n \end{matrix} \end{matrix}$$

Inspired by the success of this first step, we eliminate the first entry in row j by subtracting x_j/x_1 times the first row from the j th row. When applied to all the rows this yields

$$xy^T = \begin{matrix} & \begin{matrix} 1 & 2 & \dots & n \end{matrix} \\ \begin{matrix} 1 \\ 2 \\ \vdots \\ m \end{matrix} & \begin{matrix} x_1y_1 & x_1y_2 & \dots & x_1y_n \\ 0 & 0 & \dots & 0 \\ \vdots & \vdots & & \vdots \\ 0 & 0 & \dots & 0 \end{matrix} \end{matrix}$$

At this point we have row-reduced the matrix and can see that there is only one pivot, so the rank is 1.

4. Let

$$A = LU = \begin{pmatrix} 2 & 1 & 0 & 0 \\ 6 & 2 & 1 & 0 \\ 4 & 3 & \frac{3}{2} & 1 \\ & \frac{1}{4} & -\frac{1}{8} & \frac{1}{4} \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix}$$

- (a) (6 points) Find $\det(A)$.
- (b) (14 points) Find L^{-1} .

Solution:

- (a) The determinant of A is the product of the determinants of L and U . Each of them is a triangular matrix, so their determinants are the products of their diagonal elements. In the case of L this is 1, while in the case of U it is 1. The determinant of A is therefore 1.
- (b) To find L^{-1} we use Gauss-Jordan elimination.

$$\begin{array}{c} \begin{pmatrix} 2 & 1 & 0 & 0 & 0 & 1 & 0 & 0 & 0 \\ 6 & 2 & 1 & 0 & 0 & 0 & 1 & 0 & 0 \\ 4 & 3 & \frac{3}{2} & 1 & 0 & 0 & 0 & 1 & 0 \\ & \frac{1}{4} & -\frac{1}{8} & \frac{1}{4} & 1 & 0 & 0 & 0 & 1 \end{pmatrix} \begin{array}{l} \\ \\ \\ \hline \end{array} \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix} \\ \\ \begin{pmatrix} 2 & 1 & 0 & 0 & 0 & 1 & 0 & 0 & 0 \\ 6 & 0 & 1 & 0 & 0 & -2 & 1 & 0 & 0 \\ 4 & 0 & 0 & 1 & 0 & 0 & -\frac{3}{2} & 1 & 0 \\ 0 & 0 & \frac{1}{4} & 1 & 0 & -\frac{1}{2} & \frac{1}{8} & 0 & 1 \end{pmatrix} \begin{array}{l} \\ \\ \\ \hline \end{array} \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix} \end{array}$$

We conclude that

$$L^{-1} = \begin{pmatrix} 2 & 1 & 0 & 0 \\ 6 & -2 & 1 & 0 \\ 4 & 0 & -\frac{3}{2} & 1 \\ & -\frac{1}{2} & \frac{1}{2} & -\frac{1}{4} \end{pmatrix}$$